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Scientific Notation Crossword Puzzle

10

Across

4.3.1*¥10"2 + 3.2*10"2
5.3.1*10"2 +3.1*10"2
7.6.24*%10"1 + 6.24*10"2
8.4.64*%10%4 /2.32*%10"2
9.6*1072 /3*10"2

11. 3*10"2 x 3*10"2

11

Down

1. A band has released two albums. Their first
album sold 5.9*%1076 copies. Their second album
sold 1.3*10”6 copies. How many total copies has
the band sold?

2.4*1073 - 2*%1072

3. 7*¥10M x 2*%10"3

6. A tv show had 3.5*%1076 viewers on their first
episode and 8.t*10"6 viewers on their second
episode. How many viewers did they have overall?

10. 2.34*10"1 - 1.99*10"0

Word Bank
21.41 12000000 9*10"4 1.89%107"6 4.2*10"3 620
20000 2000000 6.864*1072 140000000 620
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